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range of short is correct? A. -27 -- 27-1B. 0 -- 216-1 C. 7215 -- 215-1
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0000000 2. Which declarations of identifiers are legal? A.
$persons B. TwoUsers C. *point D. thisE. _endlineC0 O OO0 0O O
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000000 3. Which statement of assigning a long type variable
to a hexadecimal value is correct? A. long number = 345L. B. long
number = 0345. C. long number = 0345L. D. long number = 0x345L
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the following fragments might cause errors? A. String s = "Gone with
the wind". String t =" good ". String k = s t. B. String s = "Gone with
the wind". String t. t =s[3] "one". C. String s = "Gone with the wind".
String standard = s.toUpperCase(). D. String s = "home directory".
Stringt=s-"directory". 0 DU O U000 O0O0oooon
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